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OXs8 nESAAH SRS
17,600%2000 2= 12& 4,224
A& HI % = O] 1,753,000 1,531,000 222,000
= 200,000
< 274,000
Al 1,279,000
A& HI 1,750,000 1,525,895 224,105
OnsStss 2 48 RXNE= HIHA
100,000,000 100,000
OEHEE HHAIZTEADl &X 15,000, 000 15,000
Ok WSS HAHI WA 50,000, 000 50,000
Ouxz nsdlss & 60,000,000 60,000
OkL: nsdlss #2= WA 10,000, 000 10,000
OusSetEAILE &4 2 WH 60,000, 000 60,000
Ogt=Ex a4 2 old 30,000, 000 30,000
Ouiz e g2 &1 50,000, 000 50,000
OXs) 2FA HA(UPS)&Hl &X
10,000, 000 10,000
OS8IY = HdzM S 2]
100,000,000 100,000
OsXg =5 J}dza S22 100,000,000 100,000
Ot - MSeE &EJth et AL =2
20,000, 000 20,000
O &=JtHet £ X 240,000, 000 240,000
< 72,000
Al 168,000
OusAMD 2 2 HEAY(HZAAHC - EE
A AAHE) 400,000,000 400,000
= 200,000
Al 200,000
Ouns&d MEA (3 24Hel) 200,000,000 200,000
< 80,000
Al 120,000
OALE g2k &1 80,000, 000 80,000
< 32,000
Al 48,000




= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Odgdlss 4Xl 40,000,000 40,000
< 16,000
Al 24,000
OF2d g2 41 40,000,000 40,000
< 16,000
Al 24,000
OADREXNSE 2" ZZE &X 25,000,000 25,000
< 10,000
Al 15,000
OANgld 25 g &8 HIE £X
120,000, 000 120,000
< 48,000
Al 72,000
03 Al S THHI 3,000 5,105 22,105
OAIZ 2 HHI 3,000,000 3,000
Heglol(se)es2d HA 872,000 1,572,333 A700,333
= 355,000
< 61,000
Al 456,000
401 Al HI K 201 I 872,000 1,572,333 A700,333
= 355,000
< 61,000
Al 456,000
01 A& HI 872,000 1,570,000 A 698,000
Oelol(=2)EBs3Y SXB4(118IHA)
40,000,000 40,000
ONgoEsxRs SEHFEX SEothet X
A 72,000,000 72,000
< 36,000
Al 36,000
ONEoEsxSE R USEE Stiict & XA
e 200,000, 000 200,000
= 100,000
Al 100,000
ONEoE2s7d HEAS (B & E220HA)
510,000, 000 510,000
= 255,000
Al 255,000
ONgoEs xS AlldZatAld 50,000,000 50,000
< 25,000
Al 25,000
LA NsEWSHATS) 2SAY 11,901,800 3,061,000 8,840,800
= 7,140,000
Al 4,761,800
201 LBt2H| 1,800 1,000 800
01 At 22l 1,800 1,000 800
ONsERSHATS) B2t MHEY ¢
100, 000%62! *33l 1,800




2N 1S
HE: DEIN =
CSl: DE GFAME HE L B CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
401 Al& Bl & 28I 11,900,000 3,060,000 8,840,000
2 7,140,000
Al 4,760,000
01 A& HI 11,882,150 3,057,000 8,825,150
OXNs8usHA(ITS) 2SAL
11,882, 150,000 14 11,882,150
2 7,129,290
Al 4,752,860
03 Al 2 THHI 17,850 3,000 14,850
OAIE =l 11,900,000,000%0. 15% 17,850
= 10,710
Al 7,140
=IE &2 2 z2e 10,559, 196 9,265,864 1,293,332
s 600,000
< 2,000,000
Al 7,959,196
FIE L4X 2 =24 5,634,156 7,265,864 A 1,631,708
401 Al Bl 28I 5,634,156 7,265,864 A 1,631,708
01 A& HI 5,622,000 7,254,000 A 1,632,000
OHEZ0l TAMNLX T FXE 20 (A3,
475m") 3,202,000, 000 3,202,000
OsdH 2A0E FXUHE ZHSAH(T71H)
750,000, 000 750,000
O=23Y Hellts =& 24 SAH(18Y)
200,000, 000 200,000
Oss ARFAe A8 ASHAN =& &£
I3 AH(14H) 550,000, 000 550,000
O3&s FHHXN FUHHEZH S AH(1802H)
500,000, 000 500,000
OARE LA=TE ZHIAH6IHA)
300,000, 000 300,000
OSE=XE A= RA223 A 50,000,000 50,000
O&Zds SEFXE ZHIAMY 20,000, 000 20,000
Os2d8 &4 d30S =XE X 3A
20,000, 000 20,000
Othels 2010t LAI=IHE ZEZA
30,000, 000 30,000
03 Al 2 THHI 12,156 11,864 292
OAl& 2| 12,156,000 12,156
FXEE NS A Y 1,405,040 2,000,000 A 594,960
s 600,000
Al 805,040
401 A& BIZ 201 8] 1,405,040 2,000,000 A 594,960
as 600,000
Al 805,040
01 A& HI 1,400,000 1,990,000 A590,000




2AMd: DS
By DEIA =
Sl FXE HE Y 2 (S &2)
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
OZAE SHEOIME 2 SEFXUE ZESA
(60%H) 1,400,000, 000 1,400,000
s 600,000
Al 800,000
03 Al S THHI 5,040 10,000 A 4,960
OA& =R HHI 1,400,000, 000%0. 36% 5,040
=S ASANSX G DA LA (HSAIY) 3,520,000 0 3,520,000
< 2,000,000
Al 1,520,000
401 AIEHI L 2CHYI 3,520,000 0 3,520,000
< 2,000,000
Al 1,520,000
01 A& HI 3,510,496 0 3,510,496
O a2k SSEXNAXNAEXE A
3,510,496, 000 3,510,496
< 1,994,580
Al 1,515,916
03 Al S THHI 9,504 0 9,504
OAIZ 2 HHI 9,504,000 9,504
= 5,420
Al 4,084
Y Asx 2l 37,332 37,332 0
EY NS 2el 37,332 37,332 0
S WEHE 2el 21,892 21,892 0
201 Let24d] 16,592 16,592 0
01 At 22l 16,592 16,592 0
OXNsSA 238 s NIGR dBME 88
= M 2,000,000 2,000
OXsIEcia2EYE A8 s DXAM H
= 80,000%5F = 128t A 4,800
OXtsA2eld et MEeHE IXAM ME
80,000+8F =12 A 7,680
ONSA&e WEHEYR =& Sl
8,000+2H 1121201 & 2,112
202 oddl 5,300 5,300 0
01 SLHOYI 5,300 5,300 0
Oosglsxt N &©= 5 5,300,000 5,300
oL 2l 15,440 15,440 0
201 Let24d] 11,040 11,040 0
01 At 22/l 11,040 11,040 0
OXNSA 2HYX L AREE EME T80
# F X2yl 380,000%201 x1201 & 9,120
ORHYX NsA &2l & FRFA =l
8,000+2E+x10 128 1,920




EA: WEI
Mz 2HISI 22
SRl SHIISA 22 (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
202 o4 | 4,400 4,400 0
01 2L I 4,400 4,400 0
O2cex KAsk XA
20,000%2H x5 x 1204 & 2,400
OXNSX 23 EAEER =4 2,000,000 2,000
WREs=s(DEW) 6,150 33,533 N 27,383
=PSPNE 6,150 33,533 N 27,383
BtEt =2 D] EF 6,150 33,533 N 27,383
802 Btet= DI Ef 6,150 33,533 N 27,383
01 2DEXZ3EtaE =2 6,150 33,533 N 27,383
020208 & X Z0|EZF DX &= XA At
=& 6,000,000 6,000
020208 & XZO0IEFDEX &= XNAIY 2
A4 0] At 150,000 150




